
B.A./B.Sc. 2nd Semester (Honours) Examination, 2022 (CBCS)

Subject : Economics

Paper : CC-3

(Introductory Macroeconomics)

Time : 3 hours Full Marks : 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

øé¬Ì √õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±Ú øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any ten of the following questions. 10×2=20

Œ˚ Œfl¬±ÀÚ± ˙øÈ¬ı˛ √õ∂Àùüı˛ Î¬◊Mı˛ ±›/

(a) Define circular flow of national income.

Ê±Ó¬œ˚˛ ’±À˚˛ı˛ ‰¬Sê±fl¬±ı˛ √õ∂ı±À˝ı˛ ¸—:± ±›/

(b) What is meant by a leakage from circular flow of national income?

ïÊ±Ó¬œ˚˛ ’±À˚˛ı˛ ‰¬Sê±fl¬±ı˛ √õ∂ı±˝ ŒÔÀfl¬ ’¬Û¸±ı˛Ì ı˘ÀÓ¬ fl¬œ Œı±Á¬±˚˛∑ó

(c) Define propensity to consume.

Œˆ¬±·√õ∂ıÌÓ¬±ı˛ ¸—:± ±›/

(d) What are the explicit properties of Keynesian consumption function?

Œfl¬˝◊Àkı˛ Œˆ¬±· ’À¬Ûé¬fl¬ ¸≈¶Û©Ü ∆ıø˙©Ü…&ø˘ fl¬œ∑

(e) If C=80+0.6y, then find out the savings equation and draw it.

˚ø C=80+0.6y ˝˚˛ Ó¬±˝À˘ ¸=¡˚˛ ’À¬Ûé¬fl¬øÈ¬ øÚÌ«˚˛ fl¬ı˛ ¤ı— ’Ç¬Ú fl¬ı˛/

(f) What is Balanced Budged Multiplier?

¸≈¯∏˜ ı±ÀÊÈ¬ &Úfl¬ øfl¬∑

(g) What is Keynesian cross?

Œfl¬˝◊k Sê¸ fl¬œ∑

(h) What is the stability condition in Simple Keynesian Model?

¸ı˛˘ Œfl¬˝◊kœ˚˛ ˜ÀÎ¬À˘ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬øÈ¬ fl¬œ∑

(i) What are the differences between money and bond?

’Ô« ¤ı— ıÀG¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¬…&ø˘ fl¬œ fl¬œ∑

(j) Distinguish between 'exante' savings and 'expost' savings.

¬Ûøı˛fl¬øäÓ¬ ¸=¡˚˛ › ı±ô¶∏ı ¸=¡À˚˛ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÌ«˚˛ fl¬ı˛/
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(k) Disginguish between GDP and GNP.

GDP ¤ı— GNP ¤ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÀ«˙ fl¬ı˛/

(l) What is meant by High Powered Money?

Î¬◊B‰¬é¬˜Ó¬± ¸•Ûiß ’Ô« ı˘ÀÓ¬ øfl¬ Œı±Á¬∑

(m) What are the factors that causes shift in IS curve?

IS Œı˛‡± Œfl¬±Ú Œfl¬±Ú øı¯∏À˚˛ı˛ ÊÚ… ¶ö±Ú ¬Ûøı˛ıÓ«¬Ú fl¬Àı˛∑

(n) Define Liquidity Trap.

Ó¬±ı˛˘… ¬ÛÂÀjı˛ Ù“¬±ñ¤ı˛ ¸—:± ±›/

(o) Mention the variables whose values are determined in the IS-LM model.

IS-LM ˜ÀÎ¬À˘ Œfl¬±Ú Œfl¬±Ú ‰¬˘ı˛±ø˙ı˛ ˜±Ú øÚÒ«±øı˛Ó¬ ˝˚˛ Ó¬± Î¬◊À{°‡ fl¬ı˛/

2. Answer any four of the following questions . 4×5=20

Œ˚ Œfl¬±Ú ‰¬±ı˛øÈ¬ı˛ √õ∂Àùüı˛ Î¬◊Mı˛ ±›/

(a) Discuss the problems of national income accounting.

Ê±Ó¬œ˚˛ ’±˚˛ ¬Ûøı˛˜±À¬Ûı˛ ¸˜¸…±&ø˘ ’±À˘±‰¬Ú± fl¬ı˛/

(b) Analyse the equilibrium situation in Simple Keynesian Model when MPC>1.

√õ∂±øôL√fl¬ Œˆ¬±· √õ∂ıÌÓ¬±ı˛ ˜±Ú ¤Àfl¬ı˛ Œıø˙ ˝À˘ ¸ı˛˘ Œfl¬˝◊kœ˚˛ ˜ÀÎ¬À˘ı˛ ˆ¬±ı˛¸±˜… ’ı¶ö±øÈ¬ øıÀù≠¯∏Ì fl¬ı˛/

(c) Write a short note on Relative Income Hypothesis of consumption.

Œˆ¬±· ’À¬Ûé¬Àfl¬ı˛ Ó≈¬˘Ú±˜”˘fl¬ ’±˚˛ Ó¬MWøÈ¬ı˛ ¸—øé¬l øÈ¬fl¬± Œ˘‡/

(d) Construct LM curve from money market equilibarium condition.

’ÀÔ«ı˛ ı±Ê±Àı˛ı˛ ˆ¬±ı˛¸±À˜…ı˛ ˙Ó«¬ ŒÔÀfl¬ LM Œı˛‡± ·Í¬Ú fl¬ı˛/

(e) Explain 'Paradox of Thrift'.

ëø˜Ó¬ı…±ø˚˛Ó¬±ı˛ ’±¬Û±Ó¬ øıÀı˛±øÒÓ¬±í Ò±ı˛Ì±øÈ¬ ı…±‡…± fl¬ı˛/

(f) Show the crowding out effect in IS-LM model.

LS-LM ˜ÀÎ¬À˘ √crowding out õ∂ˆ¬±ıøÈ¬ √õ∂˙«Ú fl¬ı˛/

3. Answer any two question 2×10=20

Œ˚ Œfl¬±Ú ≈øÈ¬ ¬√õ∂Àùüı˛ Î¬◊Mı˛ ±›/

(a) Anslyse investment multiplier and its limitations.

øıøÚÀ˚˛±· &Ìfl¬ Ó¬MWøÈ¬ ¤ı— Ó¬±ı˛ ¸œ˜±ıX¬Ó¬±&ø˘ øıÀù≠¯∏Ì fl¬ı˛/
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(b) What is transaction demand for money? Give a brief outline of the inventory theoretic approach

to the transaction demand for money.

Œ˘ÚÀÀÚı˛ ÊÚ… ’ÀÔ«ı˛ ‰¬±ø˝± fl¬±Àfl¬ ıÀ˘∑ Œ˘ÚÀÀÚı˛ ÊÚ… ’ÀÔ«ı˛ ‰¬±ø˝± ¸•Ûøfl«¬Ó¬ ˝◊ÚÀˆ¬∞I◊±ı˛œ ¬ÛLö±øÈ¬ı˛ ¤fl¬øÈ¬
¸—øé¬l ı˛+¬ÛÀı˛‡± ±›/

(c) What is the slope of the LM curve? Discuss relative effectiveness of fiscal and monetary

policy.

LM Œı̨‡±ı̨ Ï¬±˘ øfl¬∑ ¸ı̨fl¬±ı̨œ ’±˚̨ ı…˚̨ ÚœøÓ¬ › ’±øÔ«fl¬ ÚœøÓ¬ı̨ ’±À¬Ûøé¬fl¬ fl¬± «̊fl¬±øı̨Ó¬± ¸•ÛÀfl«¬ øıÀù≠̄ ∏Ì fl¬ı̨/

(d) Derive and explain the stability condition of in IS-LM Model.

IS-LM ˜ÀÎ¬À˘ı˛ ˆ¬±ı˛¸±À˜…ı˛ ¶ö±ø˚˛ÀQı˛ ˙Ó«¬øÈ¬ øÚÌ«˚˛ › ı…±‡…± fl¬ı˛/
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